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E b A container of weight 7" is suspended from ring 4.
x Cable BAC passes through the ring and is attached to
fixed supports at B and C. Two forces P=Pi and
Q =Qk are applied to the ring fo maintain the
container in the position shown. Knowing that
" =376 N, determine P and Q. (Hint: The tension is
the same i both portions of cable BAC.)
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PROBLEM 15.59

Knowmg that at the mstant shown the angular velocity of crank AB is
2.7 rad’s clockwise. determune (@) the angular velocity of hink BD (B} velocity
of collar I, {¢) the velocity of the midpoint of link BD.
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PROBLEM 11.134

Determine the maximum speed that the cars of the roller-coaster
can reach along tie circular portion AR of the track if p1s 25 m
and thé rormal component of their acceleration cannot exceed 3 g.
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